
MATH 6101-090 Foundations of Real Analysis Fall 2004

Assignment 9

Mandatory questions to be answered orally

1. Exercise 9.4 from the yellow book.

2. Exercise 9.6 from the yellow book.

3. Exercise 9.10 from the yellow book.

4. Exercise 9.12 from the yellow book.

5. Exercise 9.18 from the yellow book.

6. The sequence a1, a1, . . . is given by a1 = 1 and the recursion formula an+1 = 1 + 1/an. Assuming that a
limit a = limn→∞ an exists, find its value.

Mandatory question to be answered in writing

1. Show that if zn = (an + bn)1/n where 0 < a < b then limn→∞ zn = b. (Hint: Show that b < zn < 21/nb.
You are allowed to assume that limn→∞ xn = 0 implies limn→∞ 2xn = 1.)
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